


This is Felix the snow tiger. Felix Is hungry.
He wants to hunt some antelope




Felix wants to eat antelope but he can't
because the antelope are to fast so he
can't catch them
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Then he gets an idea




i)
()]
N
()
o
—
Qv
(V)]
-]
(e
(q0]
()
()]
I

(V)]
S
(@)
(@)
O




to find a shoe
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So




He's got to the shoe store !
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He goes home to look at his new shoes!!!




Now Felix put on his
new shoes




Now he goes to find an
antelope




Felix has spotted an
antelope




Felix jumps and attacks
the antelope




Ahh don't eat




So they had a berrie
picnic instead of eating
the antelope










